


























































SPEED SECRET - OPTION PARTS Cont.
U4237  M3 x 12mm Alloy Csk Screws  pk10
U4238  M3 x 16mm Alloy Csk Screws  pk10
U4295  C/F Optional Rear Hub Carrier Arm Set - Mi5 (2pr)
U4321  Alloy Wheel Shims 0.50 & 1.00mm - Mi5 - (8pc)
U4322  Bando Mid Motor Front Belt 128T - Mi5
U4323  Bando Mid Motor Rear Belt 103T - Mi5
U4325  Diff Pro Ball - Assembled - Mi5
U4326  Titanium Turnbuckle; purple - 35mm (pr)
U4327  Alloy Servo Mount Black - K1/Mi5
U4328  Impact Servo Saver 
U4329  Impact Servo Saver Mouldings
U4330  Impact Servo Saver Springs
U4338  Driveshafts; Alloy Front - Mi5  pr
U4343  Ceramic Bearing Set - Mi5 (14pcs)
U4344  Ceramic Bearing -  5x8x2.5mm (pr)
U4361  64T - 48DP -CNC Spur Gear - Mi3/4/5
U4563  C/F Top Decks 2.5mm - Mi5 Evo (pr)
U4570  Ti Screw Set for Schumacher Mi5evo (81pcs)
U4571  Ti Ball Stud Set - Mi5evo (22pcs)
U4572  Mi5evo - M3 Alloy Screw Set
U4573  Micro Caster Block  6deg - Mi5evo - 1(pr)
U4574  Front Roll Bar Set - Mi5evo
U4575  Rear Roll Bar Set - Mi5evo
U4576  Mid Motor Conversion - Mi5evo
U4578  C/F Mid Motor Topdecks - Mi5evo (1pr)
U4579  Ti Turnbuckle Set - Mi5evo (7pc)
U4580  5th Body Post Set - Mi5evo
U4581  C/F Rear Wishbone 2.5deg - Mi5evo - (1pr)
U4582  C/F Rear Wishbone 2.0deg - Mi5evo - (1pr)
U4583  Alloy Wishbone Spacer Plate 0.5mm - Mi5evo (4pc)
U4584  Emusion shock Rebuild kit
U4585  C/F Single Position Servo Mount - Mi5evo
U4588  Blinky Motor Mount - Mi5evo
U4596  Suspension shim  0.1mm - Mi5evo
U4597  Shock Shaft Titanium - Ti-Nitride Mi5evo (1pr)
U4598  44T 48DP CNC Spur Gear - Mi5evo
U4599  Titanium Pro Pin; 2.5mmx27.5mm Rear (pr)
U4600  Titanium Pro Pin; 2.5mmx21.25mm Front (pr)
U4601  C/F Wishbone Straps Set - Mi5evo
U4602  C/F Steering Arm Extra Lock - Mi5evo - (1pr)
U4603  80T 48DP CNC Spur Gear - Mi5evo
U4604  59T 64DP CNC Spur Gear - Mi5evo
U4605  Top Deck Stiffener Set - Mi5evo 

U4608  Alloy Chassis - Mi5evo
U4609  C/F Top Decks 3mm - Mi5 Evo (pr)
U4610  Alloy Eccentric - Mi5evo (1pr)

TOOLS
CR044  CORE RC - Curved Body Scissors
CR045  CORE RC - Straight Body Scissors
CR100  Shock Shaft Pliers - Purple
CR101  Shock Shaft Pliers - Black
CR102  Magnetic Parts Tray - Purple
CR103  Magnetic Parts Tray - Black
CR148  CORE RC -  Polybutler Pit Box; Black
CR197  CORE RC - Glass Set Up Board
CR233  Piston Drilling Kit-1.1, 1.2, 1.3, 1.4, 1.5mm
ED120115 Ball Allen Wrench 1.5mm x 120mm
ED180001 Graphite Flat Set-Up Board for 1/12 & 1/10 On-Road
ED181001 Chassis Droop Gauge Blocks 10mm for 1/10 - (2)
ED181004 Chassis Droop Gauge 3-10mm for 1/10 Cars (10mm)
ED181007 Ultra-Fine Chassis Droop Gauge 4.0-6.6mm
ED181008 Ride Height Gauge - 0mm - 15mm (Bevelled)
ED181009 Quick Downstop Gauge Tool - 1.0 - 6.5mm
ED181012 Alu Set-Up Wheels (4)
ED190012 Reamer with Protection Cap for Body - 14mm
ED290801 Specialized Tool Set for 1/10 EP with Alloy Case
G353  Schumacher Glass Set Up Board
H1026  Ride Height Gauge; Purple Alloy; 0-10mm
H1027  Droop Gauge Set; Purple Alloy - Touring
H1032  Alloy Camber Gauge - 1/10th
H1055  GT85 Lube and Clean Aerosol 400ml

TOOLS Cont.
H1056  Loctite 243 Thread Lock
H1057  Loctite Precision Super Glue - 5g
U2075  Camber and Ride Height Gauges - C/C
U2100  Set Up Wheels;Camber and Toe In-SST
U2789  Schumacher Hex Driver - 1.5mm
U2790  Schumacher Hex Driver - 2.0mm
U2791  Schumacher Hex Driver - 2.5mm
U2792  Schumacher Hex Driver - 3.0mm
U2795  Schumacher M3 Nut Driver
U2796  Schumacher M4 Nut Driver
U2818  Schumacher Body Reamer
U3582  Precision Balance Pivot Set
U4229  Steel Spanner - 5.5mm/3.9mm
U4315  C/F Lipo/Roll Bar Block Tool - Mi5

TYRE ADDITIVE
C180101  CS Competition Grip Additive
C6400  CS High Grip Additive
C6431  CS Tire Clean Fix
C6440  CS Tire MAX Grip
C6460  CS Speed Grip Carpet
G862  Kimwipes S-200 - Tyre Warmer Tissue
MR0001  Marc Rheinard Outdoor Additive
NR96010  NOSRAM Traction additive carpet
NR96020  NOSRAM Traction additive asphalt
SXT00030 SXT 3.0 Traction Compound

TYRE WARMERS
C150101  CS - Tyre Warmers 7.2-15v
CMMMMTW4 CS Tyre Warmer Cups
CR289  CORE RC Tyre Warmer Set
SK-600064-01 Racing Star Tyre Warmers

B

          

Spares List 5

Page 29

r a c e  w i n n i n g  i n n o v a t i o n









































U3570  Alloy Wheel Hex; Slim+O ring - (pr)

U4230  M3 x 6mm Alloy Button Hd Screws pk10
U4231  M3 x 8mm Alloy Button Hd Screws pk10
U4232  M3 x 10mm Alloy Button Hd Screws pk10
U4233  M3 x 12mm Alloy Button Hd Screws pk10
U4234  M3 x 6mm Alloy Csk Screws  pk10
U4235  M3 x 8mm Alloy Csk Screws  pk10
U4236  M3 x 10mm Alloy Csk Screws  pk10
U4237  M3 x 12mm Alloy Csk Screws  pk10
U4238  M3 x 16mm Alloy Csk Screws  pk10
U4572  Mi5evo - M3 Alloy Screw Set U4581 C/F Rear Wishbone 2.5deg - Mi5evo - 1pc

U4582 C/F Rear Wishbone 2.0deg - Mi5evo - 1pc
U4617 C/F Rear Wishbone 1.0deg - Mi5evo - 1pc
U4618 C/F Rear Wishbone 1.5deg - Mi5evo - 1pc

U4295  Optional Rear Hub Carrier Arms - Mi5

U1301 Silicone Diff Lube - Pot 
U1954  Pro - Thrust Bearing
U1957  Moly Grease - Pot
U2573  Pro-Diff Screw Set
U2574  Ball Bearing - 5x9x2.5  Open (pr)
U3019  Diff Balls; SiNi 2.5mm (pk12)
U3140  Diff Washer; ProSpec - Mi4/Mi5 (pr)
U3508  CNC Ball Diff Pulley and Fences; 36T 
U3820  Alloy Ball Diff Output; Male - Mi4CX
U3821  Alloy Ball Diff Output; Female - Mi4CX
U4325  Assembled Pro Ball Diff - Mi5

U4575  Rear Roll Bar Set - Mi5evo

CR465   Offset Servo Horn 23t - Mi5evo -1pc
CR466   Offset Servo Horn 25t - Mi5evo -1pc

U4573  Micro Castor Block 6deg - Mi5evo - 1prU4340     C/F LiPo Stops - Mi5evo

U4321  
Alloy Wheel Shims 0.50 & 1.00mm - Mi5 - 8pc

U4304  Spring 14Lb/in - White - Mi5 - 1pr
U4305  Spring 15Lb/in - Blue - Mi5 - 1pr
U4306  Spring 16Lb/in - Green - Mi5 - 1pr
U4307  Spring 17Lb/in - Red - Mi5 - 1pr
U4308  Spring 18Lb/in - Yellow - Mi5 - 1pr
U4309  Spring Set - Mi5 - 5pr
G882  Spec-R Touring Spring Set-Soft 2.5-2.8           
G895  Spec-R Touring Spring - Soft 2.6
G896  Spec-R Touring Spring - Soft 2.7
G897  Spec-R Touring Spring - Soft 2.8

U4574  Front Roll Bar Set - Mi5evo

U4576   Mid Motor Conversion - Mi5evo
U4322   Bando Mid Motor Front Belt 128t - Mi5
U4323   Bando Mid Motor Rear Belt 103t - Mi5
U4578   C/F Mid Motor Topdecks - Mi5evo

Speed Secrets

Page 49

r a c e  w i n n i n g  i n n o v a t i o n



CR110  Alloy Servo Arm; Futaba Purple
CR111  Alloy Servo Arm; KO/Sanwa Purple
CR112  Alloy Servo Arm; Futaba Blue
CR113  Alloy Servo Arm; KO/Sanwa Blue
CR117  Alloy Servo Arm; Futaba Black
CR118  Alloy Servo Arm; KO/Sanwa Black

G868 SPEC-R Gear Differential - Mi5 FRONTG883  SPEC-R Carbon Internal Gear Set 

G875  SPEC-R Titanium Gear Diff Pins

G884  Driveshaft Front True CV - Mi4/Mi5 - pr 

U3833  Driveshafts; Alloy Rear - Mi4CX/Mi5 (pr)
U3840  Driveshaft; Alloy Axle Rear - Mi4CX/Mi5
U3841  Driveshaft; Alloy Bone Front - 1pc
U3842  Driveshaft; Alloy Bone Rear - 1pc
U4338  Driveshafts; Alloy Front - Mi5  pr

 

U2988  M3 Csk Washers - Purple Alloy (pk10)
U4155 M3 Csk Washers - Black Alloy (pk10)

U4610 Alloy Eccentric - Mi5evo - (1pr)

U4588 Blinky Motor Mount - Mi5evo

U4328  “Impact” Servo Saver 2013 Spec - Mi5
U4329  “Impact” Servo Saver 2013 Mouldings
U4330  “Impact” Servo Saver 2013 Springs
U4341  C/F Servo Mount (Servo Saver) - Mi5

U4327  Alloy Servo Mount Black - K1/Mi5

U1572  Titanium Turnbuckle; purple - 39mm (pr)
U1573  Titanium Turnbuckle; purple - 53mm (pr)
U1905  Titanium Turnbuckle; purple - 35mm (pr)
U4579  Ti Turnbuckle Set - Mi5evo (7pc)

U4599  Titanium Pro Pin 2.5 x 27.5mm Rear (pr)
U4600  Titanium Pro Pin 2.5 x 21.25mm Front (pr)

U2862  Ceramic Bearing - 5x10x4 Shielded (pr)
U3017  Ceramic Bearing - 10x15x4 Shielded (pr)
U3386  Ceramic Bearing - 4x8x3 Shielded (pr)
U4344  Ceramic Bearing -  5x8x2.5mm (pr)
U4343  Ceramic Bearing Set - Mi5 (14pcs)

CR280  Ti Pro Ball Studs - Short - pair
CR281  Ti Pro Ball Studs - Ultra Short - pair
CR282  Ti Ball Studs - Long - pair
CR283  Ti Ball Stud Set - Mi5 (22pcs) 

48DP Spurs
U4598 44T 48DP CNC Spur Gear - Mi5evo
U4361 64T 48DP CNC Spur Gear - Mi3/4/5
U3247 70T 48DP CNC Spur Gear  - Mi4/Mi5
U3560 74T 48DP CNC Spur Gear  - Mi4/Mi5
U4603 80T 48DP CNC Spur Gear - Mi5evo
U3160 85T 48DP CNC Spur Gear - Mi4/Mi5
U3161 87T 48DP CNC Spur Gear - Mi4/Mi5
U3162 89T 48DP CNC Spur Gear - Mi4/Mi5

64DP Spurs
U4604 59T 64DP CNC Spur Gear - Mi5evo
U3269 90T 64DP CNC Spur Gear  - Mi4/Mi5
U3248 96T 64DP CNC Spur Gear - Mi4/Mi5
U3270 106T 64DP CNC Spur Gear  - Mi4/Mi5
U3163 114T 64DP CNC Spur Gear - Mi4/Mi5
U3165 118T 64DP CNC Spur Gear - Mi4/Mi5

U4597  Shock Shafts Titanium
             Ti-Nitride - Mi5evo - (1pr)

Speed Secrets

Page 50

r a c e  w i n n i n g  i n n o v a t i o n


	MI5EVO_front_cover.pdf
	MI5EVO_page1.pdf
	MI5EVO_page2.pdf
	MI5EVO_page3.pdf
	MI5EVO_page4.pdf
	MI5EVO_page5.pdf
	MI5EVO_page6.pdf
	MI5EVO_page7.pdf
	MI5EVO_page8.pdf
	MI5EVO_page9.pdf
	MI5EVO_page10.pdf
	MI5EVO_page11.pdf
	MI5EVO_page12.pdf
	MI5EVO_page13.pdf
	MI5EVO_page14.pdf
	MI5EVO_page15.pdf
	MI5EVO_page16.pdf
	MI5EVO_page17.pdf
	MI5EVO_page18.pdf
	MI5EVO_page19.pdf
	MI5EVO_page20.pdf
	MI5EVO_page21.pdf
	MI5EVO_page22.pdf
	MI5EVO_page23.pdf
	MI5EVO_page24.pdf
	MI5EVO_page25.pdf
	MI5EVO_page26.pdf
	MI5EVO_page27.pdf
	MI5EVO_page28.pdf
	MI5EVO_page30.pdf
	MI5EVO_page31.pdf
	MI5EVO_page32.pdf
	MI5EVO_page33.pdf
	MI5EVO_page34.pdf
	MI5EVO_page35.pdf
	MI5EVO_page36.pdf
	MI5EVO_page37.pdf
	MI5EVO_page38.pdf
	MI5EVO_page39.pdf
	MI5EVO_page40.pdf
	MI5EVO_page41.pdf
	MI5EVO_page42.pdf
	MI5EVO_page43.pdf
	MI5EVO_page44.pdf
	MI5EVO_page45.pdf
	MI5EVO_page46.pdf
	MI5EVO_page47.pdf
	MI5EVO_page48.pdf

